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HXS-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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@us—A / SECTION—A

1. fr=fafea gt # ¥y 1 S e 150 v=dt § v

Answer the following questions in about 150 words each :

(@) T@H AHH-3 (To THo-3) hit Hewn 489 § Ty HIRm)

10x5=50

Briefly explain the significance of  Accounting Standard-3

(AS-3).

(b) FHEARI Wik fasheq A5 (Fo TWo 3o dio) F Hew 6 fad=mn Ff)

Discuss the importance of Employee Stock Option

(ESOP).

(c) A ATIG T GER ANTd 97 8¢ 3aTe01 Afed GHATEY|

What are sunk cost and opportunity cost? Explain

example.

(d) e feufa T FR-9R § = gey R?

Plan

with

What is the relationship between residential status and incidence

of tax?

(e) it Fro <Y TrRETHIE | Hafd W@ vRqett i faaer i)

Discuss the key aspects in respect of audit of insurance company.
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2. (a) X fafiRs i vy fufive gEem (3cfem) & sgaam@ # A) T wwafEl 3 aamed o 18
Fdt Xy fafie s =1 fola forn Rt sifira $5ft ©20,00,000 #ft, it € 10 wfd IR
% 200000 3ffe At J fenfra drftl 31.03.2021 F FFafEl % Jo@-99 38 THFR 3

faraor X fofaes Y fafies
) ®
I. 3%@ qa e :
1. IRy ffy .
(@) I GSh 2,80,000| 5,00,000
(b) ol T sfemy
(GIERCRAITEEIGI)) 60,000 3,10,000
2. Iy=fad el :
8% Fl&ra o 2,20,000 —
3. 91 qfre ¢ _
AT < 1,08,000( 2,80,000
Fo 6,68,000| 10,90,000
II. yfwEafEf
1. sry=fera gieuft
aftguft, 99 @ 390 2,50,000| 5,90,000
2. 97 iafar
(a) ATg 2,70,000| 1,00,000
(b) =R T 88,000 2,84,000
(c) % H e 60,000| 1,16,000
FA 6,68,000| 10,90,000
forerm wwafaat i fweft @ ol #, 78 76 B SR s =i 1 R, 5w 5
R gEard fran ST R
(1) X fafies & womat &1, XY fafite & 8% ®wa 10% Hifem W St &, fuern
Eici]

(2) Y fafire 6 iy, @93 @ 39w=R 1 g=a €6,10,000 fFwifa fFn mn

3) X fafies & =muis wr=i it ol ®9 | agel 38 @ W@ X fofies &1 % 9w afwmms
T @ S @ | afl @ smaries 391 @ prae R S R

(4) X fafies & =nfa €1,00,000 & v fafies &t =nfa € 3,00,000 o
o T ye=t @ I e

() 34 3murR N A Fife, e w® Xy fafiee & 9@ i fFemm sufE F st S
T WS TR <
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(@) 1 33, 2021 H, Fom il = wmer o gon, Xy fafite =1 goa-va TR it
(i) X fafiee i gl A 9= A ¥ S viafdat afita smavas sda Rt $iftm)

X Ltd. and Y Ltd. were in telecom business. Both the companies took a decision
to amalgamate and a new company XY Ltd. is to be formed with an authorized
capital of ¥20,00,000 divided into 200000 equity shares of 10 each. The

Balance Sheets of the companies as on 31.03.2021 were as under :

Particulars X Ltd. Y Ltd.
® ©
I. Equity and Liabilities :
1. Shareholders’ Fund :
(a) Share capital 2,80,000 5,00,000
(b) Reserves and Surplus
(Profit and Loss A/c) 60,000 3,10,000
2. Non-current liabilities :
8% Secured Debentures 2,20,000 —
3. Current Liabilities :
Trade Payables 1,08,000 2,80,000
Total 6,68,000| 10,90,000
II. Assets :
1. Non-current Assets :
Property, Plant and Equipment 2,50,000 5,90,000
2. Current Assets :
(a) Inventories 2,70,000 1,00,000
(b) Trade Receivables 88,000 2,84,000
(c) Cash at Bank 60,000 1,16,000
Total 6,68,000| 10,90,000

The Assets and Liabilities of the existing companies are to be transferred at
book value with the exception of some items detailed below :

(I) The debentures of X Ltd. are to be discharged by issue of
8% debentures of XY Ltd. at a premium of 10%

(2) Property, Plant and Equipment of Y Ltd. was valued at ¥6,10,000

(3) The Trade Receivables of X Ltd. are realised fully and bank balance of
X Ltd. are to be retained by the liquidator and the Trade Payables are
to be paid of the proceeds thereof

(4) Goodwill of X Ltd. was worth ¥1,00,000 and Y Ltd. was worth
¥3,00,000
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You are required to—

(i) compute the basis on which shares in XY Ltd. will be issued at par

to the shareholders of the existing companies;

(i) draw up a Balance Sheet of XY Ltd. as at 1st April, 2021, the date of

completion of amalgamation;

(iti) pass necessary Journal Entries including bank entries for closing the

books of X Ltd. 20
(b) fTafmior dmea # =t wvra woneh wefia wA % Rigrl we = @ aueE)
Explain the principles and steps in setting up a good costing system in a
manufacturing organisation. 15
(€ (i) Feuhreia dsira ufwufet oik ddere gsima afeafl i afenfia Hif)
(i) Feashreia 3R Geferrel Gofma emit W R A o FR Eh /7
(i) Define short-term capital assets and long-term capital assets.
(i) How to compute tax on short- and long-term capital gains? 15
3. (@) i B (49 @), ts fFam =k, 31 7, 2021 H G9W T 9@ 99 @ FEivQ FEfafad
T TEIA Ll 2
ITF IR -Gl § I o @ F faveww § ol sifwet &1 g 9w 2 —
®©
o et s | W R 4,00,000
o 0 F us W F forg X (P) fafiee & ymw uft fres forg 9z frow 4 ant @
T af & forg sresha o @1 o (30 W e aut § %1 & 7d o @
T I8 W A, 2020 F R FEAARa g3 #) 3,00,000
o IR, S 3T e i R, | IwER fren 1,20,000
o i % U | IwER fen 1,60,000
o o Fio Tm M A it gon (Faw) 1,40,000
o Wed TR (YE # 3R @ref wie F TleeR g1 yam o mn FJifs
TlieeR THEa % ITFER W ) 3ifow w9 TE 2 wH) 6,20,000
o A Smr-ya @ et ufy 4,40,000
37 STHHR :
(i) 9T 12AA % T8d Usiigha i =8 1 T M e 24,000
(i) ¥ & A < wfes fifY (fo dio who) @ & s = 17,800
(i) IR Arefem FEh F AW R Ak wigsy fifY @ % g 1,50,000
(iv) 9% Fafirn ¥ H fy F miers 71 384 388 F 3/ Afia hi 3,60,000

i B w-Fafor ad 2021-22 F o w-arg g H g iR
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Mr. B (49 years), a resident individual, furnishes the following particulars
pertaining to the year ending 31st March, 2021 :

Analysis of his bank account in his ledger reveals the under-mentioned data—

©
* Rent received for a vacant plot of land 4,00,000
* Amount received from X (P) Ltd. for a house at Pune for which
he had been in negotiation for rent enhancement since last
4 years (this has not been taxed in any earlier year. However,
this house is transferred during March, 2020) 3,00,000
* Gift received from Alekhyo, his best friend 1,20,000
* Gift received from mother’s father 1,60,000
* Winning from a TV game show (net) 1,40,000
* Amount forfeited (initially paid by a buyer of his vacant plot,
since the buyer could not finalise the deal as per agreement) 6,20,000
* Amount received under Keyman Insurance Policy 4,40,000
Other information :
() Donation given in cash to a charitable trust registered under
Section 12AA 24,000
(i) Interest credited in the Public Provident Fund (PPF) account
during the year 17,800
(i) Public Provident Fund paid in the name of his minor daughter 1,50,000
(iv) He owns agricultural lands at Malaysia. He has derived
agricultural income therefrom 3,60,000
Compute the taxable income of Mr. B for the assessment year 2021-22. 20

(b) TTEE I R 87 T AN H AHARY
What is right share? Explain its advantages. 15

() TH HREA & IR A WMt A 3R B A ot ¥) qF A W 5% TR gwa ¥ 3R wfEwn
BW 2% | 39s53 % Faer & $o it aga 7& aa 71 g, 2021 % dwm, wfwm A § €6
wfd 31 1 AT 1 @t B 10000 FHEAT ST h T off| = G 39 TR of -

AT A yf#aT B

®) ®
|t — 6,140
q 10,000 6,000
Eelicop] 6,000 4,600

ufse A @ frfa (3m=ege) 9300 sergal off | ufsmn B ffa 9200 saaf ot
TSR TRET AU STETHIRT B /S @l R i
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In a factory, the product passes through two processes, A and B. Loss of 5% is
allowed in process A and 2% in process B. Nothing being realised by disposal of
the wastage. During July, 2021, 10000 units of material costing ¥ 6 each were
introduced in process A. The other costs were as follows :

Process A Process B

® ®
Materials — 6,140
Labour 10,000 6,000
Overheads 6,000 4,600
The output was 9300 units from process A. The output of process B was
9200 units.
Prepare Process Accounts and Abnormal Loss/Gain Accounts. 15

4. (@) ABCHFFH U (3g) T ¥ 39 Q@A & foweiywr § whe gl 8—

for arma #1,00,000 a4 % forg
gfterd] @ ¥ 40 vfg A

fosra 7 ¢ 140 ¥fa A5

gHal 2000 At wfe o

(i) w-frese g (dfto $o do) =1 war Afvm)

(i) ¥60,000 w¥ ARFd A & forg J=h s archt F+ i wE@n w1 g Hi |

(iii) (i) W@ (i) % Tore w=n 3 2, ARk wia A fosw e s_eER € 120 & S 87

(iv) 3R FF €4,000 Affes fRR @ F @9 yfd af 600 A it & ol B,
39k (i) S wfe A @ SATg T % forg fasea e @ @ afew?

ABC company produces tables. An analysis of their accounting reveals—

Fixed cost ¥1,00,000 for the year
Variable cost ¥ 40 per table

Selling price ¥ 140 per table
Capacity 2000 tables per year

(i) Find the break-even point (BEP).

(i) Find the number of tables to be sold to get a profit of ¥60,000.

(i) What will be the answer for (i) and (ii), if selling price changes to
¥ 120 per table?

(iv) If the company can manufacture 600 tables more per year with an
additional fixed cost of ¥4,000, what should be the selling price to
maintain the profit per table as (i) above? 20

(b) ‘@i fiola o F o w gue vomeh R1” wwege| sueh ferdiwared i wamsw)

“Accounting is an information system for decision making.” Explain. State its

characteristics. 15
() F-SA@YhET F1 7 Toh Il H GHHIFY | F-AWINEF FH B FHAT 87
What is tax audit? Explain its objectives. Who can be a tax auditor? 15
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@uvs—B / SECTION—B

5. frfaRed vl # @ Y% 1 IR @ 150 wed) & A
Answer the following questions in about 150 words each : 10x5=50
(@) <ian-vfawa fafma-wem (feep-fed 3e-31T) w1 7 fordia folaw 3 so% 7ew < gwgmsw)

What is risk-return trade-off? Explain its significance in financial decision
making.

(b) FTEEan st TEAT 1 qReIfa i) e fufes-awl 6 faaem i)
Define optimum capital structure. Discuss its determinants.
(c) IS T wRm 27 it Tt % Rt 6 wwEET)
What is capital rationing? Explain the principles of capital rationing.
(d) T afa el I Segiie # 9aw § wHemsy)
Briefly explain any five innovative debt instruments.
() wréam T H) wgw 3 & S §h R (o Ho Tho) % wew w1 FHEEY

Explain the importance of venture capital financing (VCF) in promoting
start-up enterprises.

6. (@) Y TEeS fufite % y@ few & 3 e E—afE@s X R ufEe T Y A W omE
2| v X & fou €34 g i e ara it srawasa B @ iR ahaem Y ¥ g
¥3-3 FUg il JRMF ara Fi S Bt 21 A gRESEIe & foag Sifan-ge | 8% B
e X % fore Sifam fiftem st 2% @ iR ufEismn v fae 4% )

2t gfEise % yenfi A stdate iR ffvraa geamm o i g e §

qRAISAT X RIS Y
T | g Qe sr=aate |dlo o (CE)| yeaiRia g si=aale |do $o (CE)
1 18 FIs -85 18 FIs ‘90
2 F2:0 e 75 F1-8 FIe -85
3 2.0 FI -60 £2:0 FIg 75
3 81 & foe do o THo :

af1 a2 aF¥3

Hio dflo THo @ 8% 926 ‘857 794
Hio dlo Tho @ 10% 909 826 751
o dio Tho @ 12% -893 797 ‘712

A foga foawon @ fauiia hifsg fe—

(i) Sian-wmEtE g2 R fafy (feh-rgees femre= © Agg);

(i) TAfvaam qeamm gftei fafyr (wfe shrace st Ave);

1 ITN b A1 TRESHIS § A HH-H gREem iR A St =i )
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The Zenith Enterprises Ltd. has two investment proposals—project X and
project Y. These are mutually exclusive. Project X requires an initial outlay of
¥ 3-4 crores and project Y requires an initial outlay of ¥ 3:3 crores. The risk-free
rate is 8% for both the projects. The risk premium rate for project X is 2% and
project Y is 4%.

The expected cash inflow and certainty equivalent coefficient for projects are
given below :

Project X Project Y
Year| pxpected Cash Inflow | CE | Expected Cash Inflow| CE
1 ¥ 1-8 crores -85 ¥ 1-8 crores 90
2 ¥2-0 crores 75 ¥1-8 crores -85
3 ¥2-0 crores 60 ¥2:0 crores 75

The PVF for 3 years :

Year 1 Year 2 Year 3

PVF @ 8% ‘926 ‘857 ‘794
PVF @ 10% ‘909 826 ‘751
PVF @ 12% ‘893 797 712

From these details, determine which of the two projects should be accepted by
using—
(i) risk-adjusted discount rate method;

(i) certainty equivalent approach method.

(b) uTE i F1 R? T e S SUR-IEA FI FHAH B H WA AHGS! bl FHAE

()

What is credit policy? Explain the criteria involved in assessing the credit-
worthiness of a customer.

i § Wfde A e h Raea-vimn & =t ft frem i)

Discuss the phases of operating procedures of monetary policy framework in
India.

7. (@) XYZFGH 60% &Hd T HM B, Td 9§ 48000 FHEA! Hl I (fefad A god

aﬁm’mreﬁ%:
F=1 AT 75 ufd 315
g 3 w30
It (afadaefie) ¥ 2 ufd 318
3yfemd (fer) 1 wfd s
@ ¢ 2 wfq 38
[CERR Q) ¢ 13 wfa 3918

20

15

15
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91 ieafEl @ S 39 YR 3

®
T 71 4000 ST AT W 20,000
916 FE 1000 THFET AFTG W 8,000
TR 7T 3000 FHIFAT AT | 33,000
fafaa TR 78,000
A & WHER 30,000
N 1 MR 3,000
Gl #1 S 6,000

I i Fgd! AT H @ gC e Fivew e w0 R 6 1.1.2021 @ 59 I 80% WA W
FW FAT e | AfTE I H @A FY AT AawTw Aafen wEia §Sh FH qa1
H v B awiE f fia, wegd @@=l f /R wfa w6 o e § 9 aeae
7dt B | TTER! I TgEd SR A Y, YRl gR TR 3UR IR w1y @ weighl W@ @l &
wraH & faers g i wifa 3 /@)

XYZ Co. is operating on 60% capacity, producing 48000 units per annum at
the following cost price structure :

Raw material ¥ 5 per unit

Wages ¥ 3 per unit

Overhead (variable) - ¥2 per unit

Overhead (fixed) ¥ 1 per unit

Profit ¥2 per unit

Selling Price ¥ 13 per unit

The current assets and liabilities were as follows :
]

Raw material 4000 units at cost 20,000
Work-in-progress 1000 units at cost 8,000
Finished goods 3000 units at cost 33,000
Sundry debtors 78,000
Creditors for goods 30,000
Liability for wages 3,000
Liability for expenses 6,000

In view of the increased demand for the product, it has been decided that from
1.1.2021 the unit should operate at 80% capacity. You are required to
ascertain the additional working capital as would be necessary in view of
additional production. The price of materials, rates of wages and expenses and
selling price per unit will not be changed. The period of credit allowed to
customers, credit allowed by suppliers and also time lag in payment of wages
and expenses shall remain the same as before.

HXS-U-COMA/7 10
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(b) e fafive $ frafafad defra @ @

gsft F & g% god aT9IR e Fid ghayfa
@ i}
30000 &l T\, T 100 IH 30,00,000 120
10000 8% 3FftmM T, & 100 IAH 10,00,000 108
20000 10% 99, & 100 Y% 20,00,000 105

FA B I 3R AWM W 5% e R F WY 20% A Dfva FA A I9fR 7)1 P
(FRARZ) F A QW 30% A Tl astiw W 10% 21 Fret A Gt A wiRa sfed drm
(S0 To Hlo Hio) 1 IRbHeH—

(i) T A R F w9

(i) SR qed ¥R & &9 §;

A F Y FfT)

Shasun Ltd. has the following capital structure :

Sources of Capital Book value | Market value per security
®© ®©
30000 equity shares of ¥100 each | 30,00,000 120
10000 8% preference shares of ¥ 100
each 10,00,000 108
20000 10% debentures of ¥ 100 each | 20,00,000 105

The company is expected to declare 20% dividend on its equity share with a
growth rate of 5%. The corporate tax rate is 30% and corporate dividend tax is
10%. Calculate Weighted Average Cost of Capital (WACC) of the company
using—

(i) book value as weight;

(i) market value as weight. 15
(c) v a8 & 3mgo 3TRo o To i yfirew A fae=mn )
Discuss the role of IRDA in Indian insurance sector. 15

8. (@) T F Gt 100 It MW F WA T 100 FAL B | HA R IR F FHLA W

fire @ ¥ sroelt e forftg o, S enf g gom R, o wmft w €6 wfa e amiw it A

#i A o W@ ) R g Sifaw ol d et @ 3w S ® 10% @1 AT -fier

(THo THo) Wiy i wEMT ot Fmfafaa & Iw g

(i) =8 T w AW R Ao w1 aRewad ffvg, e (1) am Dia wRm T R e
(2) wnwiw a7 e e 2

(i) T8 W FF e 3w e R, et faw o € 10 g ® 3R @ $20 wg
T FRY 38 9§ A =Ed §, S R S e 9 it g 6 aiee FiRg|

(iti) &9 1 ged T R, AR (1) s N FR R mn @ SR (2) aiw wifva @ e
T R
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A company has a capital of ¥ 100 crores with shares of ¥ 100 each. The shares
are currently quoted at par in the market. The company is planning to declare
a dividend of ¥6 per share at the end of current financial year which has just
started. The rate of capitalisation for the risk class to which the company
belongs is 10%. Using Modigliani-Miller (MM) model, answer the following :

(i) Calculate the price of the shares at the end of the year, if
(1) dividend is declared and (2) dividend is not declared.

(ii) Calculate the number of shares to be issued assuming the company
pays dividend, has net income of ¥10 crores and make new
investment of ¥20 crores during the year.

(i) Find out the value of the firm, if (1) dividend is declared and
(2) dividend is not declared. 20

(b) & Tafmion g6 § wrergEh yevA hit fafim qeiet 1 g8 guemsn)

Briefly explain the different techniques of inventory management in a

manufacturing unit. 15
(c) &Ed Al o AFEY i &F § F@ Rl i s hifs)
Discuss the key reforms in banking sector in line with BASEL norms. 15
* k Kk
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